Using Fertilisers

[image: image1.png]Table 1. Potassium fertiliser

Fertiliser Grain yield/ Thousand
application  tha™ weight/g
rate/kg ha™

0 224 31.8
300 225] 324
600 3.84 3729}

900 4.36 383





Table 1 shows the effect of applying potassium fertiliser on the yield of wheat plants.

1. Describe the effect of increasing potassium fertiliser on the yield.

2. Explain the increase.

[image: image2.png]Table 2. Chemical composition of fertilisers

Fertiliser N P K
Inorganic NPK 12 15 20
Cattle manure 0.6 0.1 05
Chicken manure .5 0.5 0.6
Pig slurry 0.2 0.1 0.2
Sewage sludge 1.0 03 0.2

Values are % composition
Source: adapted from Haywood,
Applied Ecology, Nelson, 1992




Table 2 shows the percentages of the three important nutrients in different fertilisers.

3. Which fertiliser would supply most nitrogen?

4. Which fertilisers would be described as organic?

5. Suggest an environmental advantage of using cattle manure as a fertiliser instead of inorganic NPK.

[image: image3.png]Table 3. Crop yields

Crop Control  FYM only NPKonly FYMas %

(no fertiliser) of NPK
Wheat 2.08 3.50 3.1 112
Barley 1.03 2.03 2.26 90
Sugar beet 3.80 15.60 15.60 100
Mangolds (beet for cattle)  3.80 2230 30.90 72

The yield of crops as t ha™'is given after long-term applications of farmyard
manures (FYM) and inorganic fertlisers (NPK)
Source: Haywood, Applied Ecology, Nelson, 1992





Table 3 shows the yields of different crops with different fertilisers.

6. Which crops grow better with inorganic NPK fertiliser than farmyard manure (FYM)?

7. Suggest why wheat gives better yields with farmyard manure than inorganic fertiliser.

